?_=_] I. XISHLHO] :':'Lo_l'l
x 3
= oM A EE] =
54 241,660 | 100,000 141,660
FHBEFZH 7|94 7 oAl ‘
2021-09-01 R AIAT = SESRNE= 40,000 = 40,000
2021-09-06 =O|F X Z(&ZH0|stn =gl 50,000 50,000 -
2021-09-06 =9o|F XZ(IEFE NI Z| Q) 50,000 50,000 -
AZLE MY AR YT 57
2021-09-24 BT AN R 2 el 36,000 . 36,000
EfS(EHE) sitAr gy 7| =7 & of Xt
2021-09-24 Cjot Haz o) 65,660 - 65,660
A4 45524 (203-03)
4 ! 13l | of Chi- =%
oI x RISHL ==
= F shidis (H) 7 52 te
a4 396,000 - 396,000
2021-09-03 | XA SALCHY Z931E 23 29 4 110,000 = 110,000
2021-09-10 | EZFE MAs7t ZHA X0 7HES) 71,000 = 71,000
ALS|EX| O RHAE AL Eh 2t
2021-09-17 Aol Zhers 100,000 - 100,000
MEE7IE SYET| SY Ca R
2021-09-29 | °° 712 EHTJ = 115,000 . 115,000
ZHEt3|
. O| HH

N0 O OO 0




